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1. Find the surface area of the cylinder.
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2. Find the volume of the cylinder.
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5. Find the surface area of the prism.
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6. Find the volume of the prism.
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7. Find th€exacplength of the segment with
endpoints at (5, -6) and (13, -10)
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8. Find the exact value of x.
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9. A circle has an area of 144w. What is the

[ am—

10. Solve for x.
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15&16. Given the two similar triangles, find:
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17. The two polygons are similar. Find the ratio of
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18.In AXYZ, mZX =62°,x=40in, and
mZY =20°. Find y to the nearest tenth.
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21. Points A & B are on one side of a river, 100’ apart,

with C on the opposite side. The angles 4 and B measure 70°
and 60° respectively. What is the distance from point 4 to
point C, to nearest foor?
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22. Find the length of arc AB and the shaded sector
area if mZC =80°and CB =9 cm.
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23. A square and an isosceles triangle are combined
to form a figure that looks like a house (the base of
the triangle is the top of the square.) The height of
the triangle is one half the triangle’s base. Each edge
of the square is 16 cm. What is the area of the
combmed ﬁgures" A = | ‘
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24. You are standing 35 feet from the base of a wall.
The wall is 120 feet tall. Find the angle of elevation
from the point where you are standing to the top of
the wall.
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25. Find the area of the shaded region.
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27. Write a similarity statement for the figure.
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28. Find the area of the rhombus.

29. Find the area of the parallelogram.
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30. What is the area of the trapezoid?
11m

Ji }\(Ll VJ’LB
:l?-. (;1\(”4—2\)

- 66D = [2n’]

>
\

1]

31. Find the missing side length if the area of the
trapezoid is 126 square meters.
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32. Find the area of the figure.
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33, Find the tollowing for the rectangular (square) 34, Find the following for the rectangular (square)
pyramid: Volume pyramid: slant height, surface area,
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37. A sphere has a radius of 3 inches. What is the 38. A circle has a circumference of 607 feet. Find
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surface area and volume of the sphere? the radius and the area of the circle. Round answers
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39. Find the exact value of x. 5 N 2 40, Findx
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41. Find the exact value of x. 42. Find the exact value of x.
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43. Find the value of x. Round your answer to the

nearest tenth. 9
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44, Find x and then find the approximate area of the
rectangle. Round your answer to the nearest tenth.
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45, Use trig ratios to approximate the measure of
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46. AB is tangent to circle C at point B. Find AB.




47. Using the Law of Sines, find the missing side
length
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48. AC and AB are both tangent to a circle. If
AC=5x-19and AB = 3x — 3, find AB.

B SxclG= =2
3,\:—3
A P%-lq = =D
X =€

AB= 3(¥)-3=24-3

49. What is mXY? What is the mXYZ? If OZ=
10cm, find the length of YZ, rounded to the nearest

tenth of a centimeter.
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51. Find the value of each variable.

' FF+X=(80

77°
920 ?(’_; ‘ 0—5

y+‘?1=|%’0

X ¥y

N

52. Find x.

6
K=

N




53. Find the approximate circumference of the circle.

54. The diagonals of a rhombus are 10 cm and 52 cm.
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57. What is the chord length?
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58. Find the surface area of a sphere with a radius of
12 inches.
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60. Find the approximate surface area and volume
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61-. A rectangular piece of paper with dimensions of
8-1nches by 11 inches has a circle cut out. The
diameter of the circle is 5 inches. What area of
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62. List the center and radius of a circle whose
equation is (x — 4)? + (y + 2)? = 9, then graph it.
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63. Write the equation of the circle graphed below.
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Equation: (X'l’)_)z_* (Y'B)L = 2—5

64. Solve for x.
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